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Christmas Addition

Solve the following word problems.

Santa has 3 candy canes in one hand, 2 in the
other, and 1 in his pocket. How many candy canes
does Santa have in total?

On Christmas Eve, 2 reindeer landed on one roof, 2
on another, and 1 on a third roof. How many
reindeer landed on the roofs in total?

In a Christmas tree decoration competition, Amy
used 2 stars, 4 bells, and 1 angel. How many
decorations did Amy use in total?

In a Christmas party, 4 kids are playing with snow,
3 kids are singing carols and 1 kid is decorating the
tree. How many kids are there in total at the party?

Santa gave 6 gifts to John, 2 gifts to Emily, and 1
gift to Alex. How many gifts did Santa give in
total?

In a Christmas play, there are 2 angels, 3
shepherds, and 1 king. How many characters are
there in the play in total?

For Christmas dinner, mom made 5 dishes, dad
made 3 dishes, and grandma made 1 dish. How
many dishes were made in total for Christmas
dinner?

Tom found 3 Christmas cookies on the table, 4
under the tree, and 1 in his stocking. How many
Christmas cookies did Tom find in total?

N

] www.splashlearn.com




